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#declaring the 1list, 1list elements can be of
different data types

myList = [1, 2, 3, 4, 5, “Hello”]

#fprint the entire list.

print (myList)

#You’1ll get [1, 2, 3, 4, 5, “Hello”]

#fprint the third item (recall: Index starts
from zero).

print (myList[2])

#You’ll get 3

fprint the last item.
print (myList[-1])
#You’1ll get “Hello”



#assign myList (from index 1 to 4) to
myList?2 and print myList?2

myList?2 = myList[1:5]

print (myList?2)

#You’ll get [2, 3, 4, 5]

#modify the second item in myList and print
the updated list

myList[1l] = 20

print (myList)

#You’1ll get [1, 20, 3, 4, 5, 'Hello']

#fappend a new item to myList and print the
updated 1list

myList.append (“How are you”)

print (myList)

#You’1ll get [1, 20, 3, 4, 5, 'Hello', 'How
are you']

fremove the sixth item from myList and print
the updated list

del myList[5]

print (myList)

#You’ll get [1, 20, 3, 4, 5, '"How are you']
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Example:

monthsOfYear = (“Jan”, "“Feb”, “Mar”, “Apr”,
\\MayII, \\JunII, \\JulII, \\AugII, \\SepII, \\OCtII,
\\NOVII, \\DeCII)
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monthsOfYear[0] 9 monthsOfYear[—-1]
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dictionaryName = {dictionary key : data}
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myDictionary = {''Peter'' : 38, ''Jhon''

51, '"'Peter'' : 13}
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userNameAndAge = {''Emily'' : 28, ''Amanda''
26, Jack = 34, David = ''Not Available''}
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userNameAndAge = dict( Emily : 28, Amanda
26, Jack = 34, David = ''Not Available''}
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dictionaryName [dictionary key of item to be
modified]
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userNameAndAge[''Emiy''] = 25
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userNameAndAge = {''Emily'' : 25, ''Amanda''
26, Jack = 34, David = ''Not Available''}
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dictionaryName [dictionary key] = data
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userNameAndAge [''Victoria'']l = 45
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userNameAndAge = {''Emily'' : 25, ''Amanda''
26, Jack = 34, David = ''Not Available'',
'"'"Victoria'' = 45}
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del dictionaryName [ dictionary key ]
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del userNameAndAge [''Amanda'']
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userNameAndAge = {''Emily'' : 25, Jack = 34,
David = ''Not Available'', ''Victoria'' =
45}

PSS w29 9 el s 503 el die ol 5o oy o ped yobako 4

#declaring the dictionary, dictionary keys
and data can be of different data

types

myDict = {“One”:1.35, 2.5:”Two Point Five”,
3:7+7, 7.9:2}

#fprint the entire dictionary

print (myDict)

#You’1ll get {2.5: 'Two Point Five', 3: '+',
'One': 1.35, 7.9: 2}

#Note that items in a dictionary are not
stored in the same order as the way

you declare them.

#fprint the item with key = “One”.

print (myDict [“One”])

#You’1ll get 1.35

fprint the item with key = 7.9.

print (myDict[7.9])

#You’ll get 2

fmodify the item with key = 2.5 and print
the updated dictionary

myDict[2.5] = “Two and a Half”

print (myDict)
#You’1ll get {2.5: 'Two and a Half', 3: '+',
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'One': 1.35, 7.9: 2}

#add a new item and print the updated

dictionary

myDict ["New item”] = “I'm new”

print (myDict)

#You’1ll get {'New item': 'I'm new', 2.5:

'"Two and a Half', 3: '+', 'One':

1.35, 7.9: 2}

fremove the item with key = “One” and print
the updated dictionary

del myDict [“One”]

print (myDict)

#You’ll get {'New item': 'I'm new', 2.5:
'"Two and a Half', 3: '+', 7.9: 2}



